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#= /2y PATO8 oky.g|3
2R | 3R | 60R B
2l | AoIxI2 (SH421) MM
74 ot e (kPa)| 100 ~ 100 ~100 ~ 300 ~100 ~ 600
E|ch o1z (kPa) 200 600 1200
o) 2 (kPa) 400 1200 1800
S5 2c (c) —20 ~ 80
U 2= (c) 10 ~ 80
ot | T 2= (c) 10 ~ 50
NS sxras (%RH) 35~ 85 (22 92 %)
B2t e () —20 ~ 80 (L§7]2, &= 65%RH 0[5
4= x| ERRE7IE EFHE BAAFIX] b= 7IAl / A
HA xfgt MQ, Z|4) 100 (500V DC)
LRI 500V AC, 60s (4 12 1mA 0[3})
o mE 1/2" X 3/8"
24 (9) oF 160
i 3= Y (v DC) 24+10%
== () 10% (P—P) O} ZIA|AE
EERE] (mA) 4~ 20 o5t ZX7|7|
Mz HMF (mA) 4+0.2 (@25C)
Al M (mA) 16+0.2 (@25°C) 7IEf
OE*“;* S5t X3 Q) 0 ~ 500
sy | AMY/ SIAHRRIAA (%F.S.) +1.0 +15 o - 254N
2z EAM (0 ~ 50C) ZERO (% F.S./C) +0.1 PA-20
(1= 2=: 25C) SPAN (% F.S./C) +0.1 PA=204
Sgas (ms) o2 et
* WEo| AP} SIS P2 AUS X9 2 25+5C, 23 He 24V DC, HaHKE 2500 & 7|EoR Bt
PA-758
PA-840/848
PA-930
H E4 PA-930A
PA-960/968
A o= AR Z24(25+5%) HEE PG-20
LHZIA 10 ~ 55Hz, 1.5mm Z|cH/98.17%, 3ekat Zf 242t PG-30
LIS 2N 490%, 348t 2t 33 PG-35
oty = ~ K74 OorEd 1(0p = M= TR, A HR: 242 2 £2%FS. PG-35H
JEES] 0~ &74 . 108 37
L&A 40°C, 90 ~ 95%RH, 240A|ZH remest
EMI: ENS5011: 2007, A2:2007 Group 1, class B | oputz £2: +59% F.S, o
FMC EMS: EN61326—1: 2006/EN61326—2—3: 2006 Table 2 | ZAF & ZIf £5% F.S, o
PS20
PS30
PS60
PS91
PZ-30
WL10
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